General Studies for Primary Schools
Transport and carbon emissions (2) - Worksheet 
The following information is the “carbon emission per person” of public transport travels for 1 kilometre:
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7.2 g
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75 g



A. Using the information, calculate the carbon emissions of transport in the trips of Peter and Mary:
[image: ][image: ]
       Peter’s trip (Total driving distance is 10km)                               Mary’s trip (Total travel distance of the transport is 10km)

	Trip (includes transport)
	Travel distance
(km)
	Carbon emission per person 
(g / km)
	Carbon emission
(g)
	
	Trip (includes transport)
	Travel distance
(km)
	Carbon emission per person 
(g / km)
	Carbon emission
(g)

	Peter drives his car to buy models in Causeway Bay.
	3
	
	
	
	Mary goes to watch a movie in Tsim Sha Tsui by MTR.
	2
	
	

	He drives to buy books in Wanchai after lunch.
	2
	
	
	
	She goes shopping in Causeway Bay by bus after lunch.
	4
	
	

	He drives to have  gathering with friends in Tsim Sha Tsui after 
buying books.
	2
	
	
	
	She goes to have tea gathering with friends in Wanchai by minibus after shopping.
	2
	
	

	He drives back home after dinner.
	3
	
	
	
	She goes back home by bus after dinner.
	2
	
	

	       Total carbon emission:
	 
	
	Total carbon emission:       
	     


B. Answer the following questions according to the information on page 1: 
1.  Complete the following table:
	
	Transport used in the trip
	Total travel distance (km)
	Total carbon emission (g)

	Peter
	
	10
	

	Mary
	
	10
	


2.  In the trips of Peter and Mary, although the travel distances on transportation are (  the same  /  different ), the total carbon emissions are (   the same  /  different  ). It is because they take different modes of transport. 
On the whole, Mary has (  higher  /  lower  ) carbon emission. 
[bookmark: _GoBack]3.  What is common among the modes of transport used by Mary? __________________________________________________ 
4.  How many times larger is the carbon emission of Peter’s trip than that of Mary’s trip? (Write down the steps of calculation.)
	






  Conclusion     We better take public transport in daily life. 
It is because we can reduce (  carbon emission  /  travel time  ) and step toward green living.

Suggested answers
A. Peter’s trip                                                     Mary’s trip
	Trip (includes transport)
	Travel distance
(km)
	Carbon emission per person
(g / km)
	Carbon emission
(g)
	
	Trip (includes transport)
	Travel distance
(km)
	Carbon emission per person
(g / km)
	Carbon emission
(g)

	Peter drives his car to buy models in Causeway Bay.
	3
	75
	225
	
	Mary goes to watch a movie in Tsim Sha Tsui by MTR.
	2
	7.2
	14.4

	He drives to buy books in Wanchai after lunch.
	2
	75
	150
	
	She goes shopping in Causeway Bay by bus after lunch.
	4
	29.5
	118

	He drives to have  gathering with friends in Tsim Sha Tsui after 
buying books.
	2
	75
	150
	
	She goes to have tea gathering with friends in Wanchai by minibus after shopping.
	2
	64.2
	128.4

	He drives back home after dinner.
	3
	75
	225
	
	She goes back home by bus after dinner.
	2
	29.5
	59

	       Total carbon emission:
	750
	
	Total carbon emission:       
	319.8



	B.
	1. 
		
	Transport used
	Total travel distance (km)
	Total carbon emission (kg)

	Peter
	Private car
	10
	750

	Mary
	MTR, bus, minibus
	10
	319.8




	
	2. 
	the same, different

	
	3.
	They are public transport. 

	
	4.
	750  ÷  319.8  =  2.3 (倍)



Conclusion: carbon emission
References：
1. Carbon emission of private car: https://www.gov.uk/government/publications/greenhouse-gas-reporting-conversion-factors-2016

2. Carbon emission of public transport: http://www6.cityu.edu.hk/aerc/cft/booklet/Guidelines%20TC.pdf

3. Environmental Protection Department: Video clips (Emission control measures – Vehicles)
http://www.epd.gov.hk/epd/english/environmentinhk/air/prob_solutions/clean_air_you.html
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